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ACCOUNTING AND FINANCE
First Paper : : Income Tax Law and Accounts

Time allowed : Three hours Maximum Marks 100
" Part- A (Compulsory)
TN W T B AP ¥ | TS 99 B SOX 50 AeaT W it A8 B

aMeT | FA weHl B 3 A E|

Part - B (Compulsory)

9 9T g9 PIRR | S Y BT IUX 100 IaT ¥ iE 6 oFT ARy |

N 911 & 3 9AE §
Part - C (Compulsory)

TS SBIE q TP 99 0 §Y, B 41 99T DI | TAF T BT SR 400
IR A P A8 B AR | 9N g & 35 wHA &
Part-A

L What do you mean by Person' according to the Income Tax Act, 19617

' JIF ARATH, 1961 D ATAR AfT | 31T T A 67

2 Enumerate any three incomes which are totally exempt from income tax.
T B8 G ST BT S P Wi IR | goirar TRya Bl

3. Mr. Manish Sharma is employed as an Officer with a Public Limited

Company. He s in the pay scale of Rs. 16,000-800-24,000 since 1st Sep-
tember, 2012. Calculate his basic salary for Assessment Year.2016-17.
A 7w I vF e S T ARSI S w5y F YT BT 1
RATIR VA W. 16000-800-24000 P Ia79H A &1 IR-FgRor
9§ 201617 B T 7@ @1 399 B T0EAT PG |
4 Ram took aloan of Rs. 15,00,000 @ 10% per annumon 1.7.2012 for the
construction of a house. The construction of the house was com-
pleted in the previous year 2015-16. Comipute for the assessment year
2016-17 the amount of interest deductible in computing the income
from house property if the house is (i) let out (ii) self occupied.
IMY APA IR S T 1.7.2012 B39 1500000 & 30T
1 0 gfdea gfted & e 9§ o’ 9™ 99y 2015-16 ¥ SHT
¥R gon | FR-FYERoT T 20 1 6—17 B 0 7T ¥y & a7 &y
ORI XA B T BT AFY IR BT T PR, IR HHH (5) RwRY
ngm% (i) FOF G D @ P
What is the rate of depreciation for the following type of assets:

(@) Aeroplane
(b) Water Purification Plant Installed after 1.9. 2002

© FlouerllPlanl
= gBR B wﬁﬁwmaﬂ%mwm

(a) ®aTE- S

h
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10.

11,

(b) W MEF ¥G 1.9.2002 B S TR T IYHI0T

(c) et ey e
Give any three examples of such transactions which ae not regarded
as transfer under the head income from Capital Gains.

YN T4 ¥ Y 311 Y T R T VR P A1 SereRer SRR

e exraxor =& g o B

During the previous year 2013-16 in the month of March, 2016 Ram
received as interest of Rs. 5.400 from Shyam and Mohan each. Shyam
and Mohan both arc a sole proprietor of their business. During the
financial year 2014-15 the gross turnover of Shyam was Rs. 1,20,000
wlule the gross turnover of Mohan was only Rs. 80,00,000. Calculate
the income from other sources of Ram.

XM A M AR AT TS ¥ TS 201516 ¥ 99 5400 AT
DA, 2016 ¥ WS 5 | WM 3R 97 M1 Sv9—-aqy =9 @
TEHe W | O A g R i 9 207415 F R
12000000 & SEidb Higd & gor s DI B99 80.,00,000
A M B 3 AT A AT AP B o B TET DR |

Explain the deduction to be allowed under Section 10(32) when the
income of minor child is included in the total income of his parents. -
U6 JIATE T B A D SHD APARS B Fer I F aafenr
B W URT 10(32) D T80 <7 9N 90 B o ISy |
Can an assessee get deduction under Section 80 C without making
any payment during the previous year? If yes, how?
TG T A R o Fam Y f aer 3 uRr 80C 9 FI
et W &7 i &, A7
What is Standard Rent? A% R aar 37

o Part- B .
Mr. Mahesh is engaged in the business of civil construction. During
the previous year 2015-16 his gross receipts from, such business
amount to Rs. 54,00,000 which does not include Rs. 4,00,000 being the
cost of material supplied by the contractees. He wants to claim the
following deductions.

: Rs.
Cost of material used 22,50,000
Salary to employees : 3,40,000
Dq:ll" eciation s 3 JO,W]'
Other expenses . 1,80,000

Advise him whether he should op or not for the scheme of presump-
tive profit under Section 44 A.D.

ﬁmﬁ%ﬁw*muﬁ_aﬁgq%lmﬁ 2015~16 %
SR T WA B T Yifkwdi B 54,00,000 B & ¥ 3
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' %ﬁ:?msﬁmﬁﬁ@qmﬁamﬁm 4,00,000 AT T EA

1 AR &1 T R §

| .
ST ¥ el 1% Wl B e 22,50,000
HHAIRET BT A | 3,40,000
& | 3,20,000
I =g 1,80,000
gere SR 6 I9@1 a1 44 A D. ¥ R W wRefead ard w4l
TS P YA FIRY 2T 78 | |

12.  Thetotal income of Shri Ramesh isRs. 2,51,200. Calculate grosstax
payable by him for he assessment year 2016-17. .
Iftotal income of him Rs. 10,000 is included in respect of Horse Race
winning, show the difference in the gross tax liability for he assess-
ment year 2016-17 by calculating the amount of tax payable. ,
1 Ve B T IWD. 2,51,200 XIFR-FART T 2016-17 B
1T TS TR T AHA BT B AT Hiv | IR SHH Fot I 7 G
Az ¥ A& 7 R ¥ TR B, 10,000 AR 8 @ FR-fAE
RoT a8 2016—17 B RIT 37 GHA IY-IMQ P P~ B3R

& IR B T B g G |

18. On what dates are the instalment of advance tax due?
%—ﬁmﬁﬁlﬁraﬁqﬁﬂﬁ?ﬁéﬂ@ﬁﬁ?

14, Whatis Best judgement Assessment'? e R FR-FERO FATE?

15. Sudhir sold his only house property occupied by him as residential
house for Rs. 55,00,000 in the month of January, 2016. This house
property was purchased by him in the month of Jue, 1978 for a con-
sideration of Rs. 3,00,000 and its fair market value ason 1.4.1981 was
Rs. 4.00,000. In the ycar 1988-89 he incurred an expenditure of Rs.
1,61,000 in the'construction of two rooms in the upper storey. Com-
pute the taxable amount of capital gain for the assessment year 2016~
17. Cost inflation index for the year 1988-89 is 161. .
gaR 9 mvﬁaﬁwwmﬁmﬁ, 2016 ¥ 9.
55.00,000 % TT| J& AP Ty 99 A, 1978 B T
3.00,000 ¥ @A & U1 1.4.1981 @ THA AR A 9.
4.00,000 &M 1988-89 ¥ I S AT WA TR D

frfor g ¥, 1,61,000 o 5 | BR-FERer 9§ 2016-17 @

fore He-dra o @ B oA HRE | T 1988-89 T AT
TR §aHi® 161 ¥ .
Part-C
' Unit-I
16. During the last financial year 2015-16 Shii Ram had the following
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taxable incomes:
Rs.

(@) Salary income received in India for the .

services rendered in Japan (computed) 10,000
(b) Income from profession in India but '

received in Japan 3,000
(c) Property income in Malaya (out of

which Rs. 3,000 was remitted to India) 6,000
(d) Profit earned from business in Indore 5,000
(e) Agricultural income in Kenya 10,000
(f) Profit from a business carried on 20,000

at Nepal but controlled from India
(2) Pastuntaxed profits remitted to India

during previous year from U.S.A. 10,000

Compute the total income of Shri Ram for the assessment year 20 16-
17 if he is (i) Resident, (ii) Not ordinarily resident, and (iii) Non-resi-
dentin India. :

TaEd 2015-16 @ Rl o F A <m B P B AR a9

®.
(@) o A & T Jarsli & g ARa A
YISt 9 (3Mrepferd) 10,000
®) A=A H I A G IR SH H W BT 3,000
(© wemn ¥ weafa § s (R & |
%. 3,000 9Ra ¥ 9 ) 6,000
(@ TR ¥ amR ¥ sffa @ - © 5,000
(e) BT # g & I3[ | 10,000
@® e ¥ god o 9 AR A
foraa Pra= AR | 2T 8 20,000
(g) TS F WY U FARF /ARG
. AR T g A R T e
DY & AW A A 10,000

FR-FgRvI TS 201 6~ 17 D T AN I B e I1d B 10 HRAY
af2 98 ART A (i) Pard (i) rarERe AaR, vF (i) frardy 2
Or

Mr. X isthe Principal of Shri Ram College, Delhi. He was fixed in the
new pay scale Rs. 37,400-67,000 at Rs. 43,400 and academic grade pay
of Rs. 9,000 on 1st July, 2011. As per rules he is entitled to get annual
increment @ 3% of salary and academic grade pay which is rounded
off to multiple of Rs. 10. He gets 60% of basic pay and academic grade
pay as dearness allowance and 8% of the basic pay and academic
grade pay as city compensatory allowance. He has been provided
with a furnished accommodation by the college owned by it of the

http://www.rtuonline.com
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estimated rental value of Rs. 4000 p.m. But the college recovers from
him only Rs. 1,000 p.m. Furniture costing Rs. 25,000 has also been
provided by the college for which the college recovers from him Rs.
100 p.m. He hasbeen given a car of 1.6 litre (c.c.), whichis used by him
for personal purpose also. The driver's remuneration and all the ex-
penses relating to the official use of the care are borne by the college.
He has been provided with the facility of a gardener, a watchman ahd
a servant who are paid by the college Rs. p.m., Rs. 4.50 p.m. and Rs.

300 p.m. respectively.
He contributes 15% of his pay and dearness allowance to the Recognised

provident fund towards which the college contributes an equal amount.
Interest amounting to Rs. 2,500 at 12 1/2% has been credited on the
balance standing to the credit of his Provident Fund Accounts.

On 1st April, 2015 he took interest free loan of Rs. 1,50,000 from his
employer for the marriage of his daughter. Out of it he repaid Rs.
50,000 on 1st December, 2015. During the previous year he received
Rs. 2,400 from the Delhi university as remuneration for examining the
answer books of the students. Assuming that the salary becomes
due on the first day of the next month, determine his taxable income
under the head 'Salaries' for the assessment year 2016-17.

A X £ I i, Reehl & WAt ¥ 9707 1 g, 201 1 B W
A9 . 37,400-67,000 D =i 6. 43,400 V9 TS

A2 ¥ %, 9000 X ReR fara 77 | FIATIER A 36 U4 Wi TS
3 3 gRTE e 399 g TN P EFIR EAF T, 10 F I
ﬁqmmaﬁm%:a%a@wwmﬁﬁ%ﬁw 60 g
qEE o a8 YR RS A e ¥ v gAio Ao
R @i i ¥ 9% & & forg R man &, e sigAa
FHRTT 5. 4,000 YRR ¥ IR Sio S99 39a B. 1,000 iH®
e Y ¥ 3 . 25,000 T B G W Do o1 G2
A e 5T . 100 YRHETE I a1 IR 3 1S TS 1.6 X
grar B PR A S T Y, T ST Pol ST F A K ¥ 1 PR $ 91
F TRERE AR T T S TR T Hlord T8 Rl 81 SEID
e, v TERR T T e o gREn A W § el e 9. 450,
$. 450, TS, 300 WS Hiort A AR | a1 W ¥

3 yiftra aRsaff ¥ da R wEWE R @1 15 Ui 3R <
¥ foret aforar o1 A g & SuSE ¥ | Rsaffer & sl ow 12
/2 o BN AT, 2,500 T B T Y R &

<= 1 3, 2015 B I A A W D Riw o P 49,
1,50,000 T T =T 31 %01 o &1 | § § 92 . 50,000
7707 | FRRIRIX 20 1 5 B g far (aad § 9% o & saR-gRaan
ST @ e R fRvaRad A 5. 2,400 T IRHFHS w< g1 98
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sy e e R ———
Wgﬁswaﬁwﬁmaﬁqﬁaﬁmﬁwﬁmtmw
5F B B AR A 201 6-1 7 IR-FERw 7§ & e T AR |

17.

Unit-1I

Mr. Mehata runs a Drug Industry. His Profit and Loss Account showed
anet profit of Rs. 14,50,000 for the year ending 3 1st March 2016. After
considering the following further information, compute his taxable
income froth Business for the Assessment Year 2016-17:

. L The debit of the Profit and Loss Account includes the following:

() During the previous year he paid Rs. 60.000 for obtaining
licence for the operation of Telecommunication Services
for 5 years.

(i) He spent Rs. 10,000 for the promotion of Family Planning
Programme among the employees. The expenditure of Rs.
3,000 was of capital nature. -

(i) He donated Rs. 40,000 to Rajasthan University. The amount |
is to be used by the University in conducting an approved
Scientific Research Programme. '

(iv) Hehad received a demand notice for payment of tax for Rs.
12.000 from the Sales Tax Department. He did not pay the
amount till due date for furnishing return but made provi-
sion of the whole-amount in Profit and Loss Account.

(v) Comumission to brokers was outstanding on 3 1st March, 2016

to the extent of Rs. 8,000. It was later on paid in May, 2017.
(vi) Interestamounting to Rs. 25,000 on a term loan was not paid
to scheduled bank till due date. -
(vii) His contribution to employees recognised Provident Fund
was Rs. 40,000 out of it Rs. 12,000 were paid ofter due date.

(viii) Donation of Rs. 1,00,000 was given to Prime Minister Na-
tional Relief Fund.

&) Rs. 30,000 paidto the auditor for their professional feesin-
cluding Rs. 12,000 for Income Tax purpose.

) Anexpenditure of Rs. 10,000 were incurred in the mainte-

nance of a Guest House.
The credit of the Profit and Loss Account includes the following:
@) Rentof quarters let out to employees Rs. 1,50,000. ‘The pres-
ence of employees in these quarters were beneficial for the
smooth and efficient conduct of the business of the assessee.

(i) Saleprice of a machine Rs. 1,50,000. The written down value

of the machine was Rs. 80,000. The written down value of

it other assets in this block was Rs.
{hese assets was debited to Profit and Loss Account as per

2,00,000. Depreciation on

prescribed rate. Prescribed rate of depreciation is 15%.
‘T Heclaims appropriate deduction for the following:

~  Regarding purchase
¥ 56,%60 for a period of 20 years.

of patent right 20 years ago for Rs.

e —
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4}

I ar9-ef | & o us ¥ =1 Ol o afafer far Tar

(1) chard: ng preliminary expenses of Rs. 30,000 incurred dur-
ing previous year 2013-14. The value of fixed assets on the
last day of that previous year was Rs. 10,00,000.

£ gl o =arE ST Ta B 31 A, 2016 B GAI B aR

T D T I7 F-TH @R Y 5. 14,50,000 T A9 Yabe 1|
=1 arfaRea TEmall &1 e # <& g FR-FaRrad 201617
D o0 ST waar Y AR D A AR
I am-wf @ @ 9w e ¥ ey @) aftafer fear T e
() TN B ARM I 5 I P v IEAR Jarsi @ wHer
B A U B P R0 S, 60,000 IR |
() FHARAE 7 IRIR e BT B AR & @ RT ©.
10,000 =T &Y 1399, 3,000 & 7 FOIFTd Gpfcl &1 1|
(i) SHA oA fAvafaey @ $. 40,000 & g Al
fagafdarers gR1 39 IR &1 warr ek s g
FRiEH @ qUeH & R & B 8|
(iv) 59 fapa SR A9 9. 12,000 &1 B & A @ A0
T U< B3 o7 | 994 R %A a1 FAiRa Ry 9% st
I 81 AT o IReg a3 @w A gegel Al @ fere
QA= &Y fer an| -
(v) 31 9", 2016 @ <A @ FARHE D B. 25,000 BN
=TT &1 R FT A <7 R 7 =18 e ww anf
(vi) TP 37Ef %01 WX AGHAT § 1 T . 25,000 H A
& R B JraE <7 Yy 9 78 far @ e
(vii) SHEIRAT @ Wit WS § 9@ Si¥EM 9. 40,000
P AT A B, 12,000 A IR &7 ga= 27 Ay
15 far T anl
(viii) T M TRRATT PN H . 1,00 oooasra'ﬁﬁm
T AT
(x) SPRIPI DT TP Y T PP S [0 3. 30,000 T FRIA
far war ORI 6. 12,000 SR & & & wffera 9|
) AR TR IS, 10,000 T =0y fHar T o

@) FHERAT B! R ) A W gardd o iR . 1,50,00011
RGN & AR & I T4 YIS Haler & e &7 awed
% HEIRAl &1 A arwe anl’

() v@ w4 B R A B 1,50,000 FEAH B St
Y4 ©. 80,000 o7 39 WY ¥ 3 wwfadl &1 aferiaa
HA %. 2,00,000 I W AeiRa % & g ar-ail |
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18.

M Rora fan T | g b (e &% 15 st ¥

0L 9% fr & e S & SRid I &1 &1 TRgd aRal €
@ JqY 20 9 & TP THed AIPR B. 56,000 F _zoaﬁ

$ afy @ fore wa fFar ol
@ Tgad 2013-1 4 TGS AT, 30,000 B IRFAS AT &

T W | 99 ey & fa i el gl 31 5l .

10,00,000 =1l
Or
Discuss the provisions of Income Tax Act relating to the set off and
carry forward of losses.
BRI A O vd SR o o W @ W SHeR e @
YEYET o U AR |
Unit-1I ) \
There were two partners in M/s Agarwal & Company (2 partnership
firm) - Shri Bansal and Shri Kansal. during the previous year 20 15-16
Shri Goval also joined this firm on 1st January, 2016. Shri Bansal and
Shri Kansal shared profits and losses equally. They gave 1/4th share
of profit to Shri Goyal. Their capitals are Rs. 80,000 Rs. 40,000 and Rs.
20,000 respectivelv. They are entitled to get interest @ 24% per an-
num on their capitals. Shri Bansal and Shri Kansal are entitled to a
salary of Rs. 6,000 per month and Rs. 5,000 per month respectively
while Shri Goyal is entitled to a salary of Rs. 4,000 per month. The firm
is engaged in professional activities and its profit and loss account
revealed a net profit of Rs. 60,000 aftér making the above payments.
Compute the total income of the firm and tax payable by the firm for

the assessment year 2016-17. _
g STETe TUS HRAT (U AR BH) Q) URER ¥ — 4 99
o A Faer | Afg 9§ 2015-16 # 1| WFE, 2016 @1 A A
79 B § FRIER 99 T | §HA T S ST GG e o |
IR & e @ @ ¥ ve-hdig 4R R ST ot B v,
80,000, %..40,000, %. 20,000 ¥ 3 Lol W IRy 24 gl
=T O & IR &1 4 9 9 A A B B, 6000 W D
5.000 WRWE I I D ARPR & B A T B. 4,000 WRER
g7 & IR &1 o e e Sl A 0 g8 & 99 Sude ey
F D qE SIS -8 GRI 7 6. 60,000 T 704 weme R &)
FR-Frgior af 201617 B T B 6 TA I T4 B g1 A
HAPHR B U Do |
Or .

Explain the whole process for assessment of Hindu Undivided Family.
wﬁﬁmﬁﬁﬁﬁqﬁmwm—ﬁﬂﬁwaﬁqﬁmml
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